Hs and time of meridian transit

Observacion
Astro
t, Hs, Z

4

Least squares fitting
Hs = a0+a1*t+a2*t2

Maximum (upper transit):
t Hmax = -a1/(2a2)
Hs max = a0-a2t2

Minimum (lower transit):
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Derivatives

Mgt'\‘/’" >—> dB/dt dL/dt
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Time of meridian transit
At= = 3600180((15 i dDecj TAN(B)-TAN( Dec)
e dt (dLHA jz
dt

t(mt) = t(Hmax) + At

T

H meridian transit

A

Hs = Hs(tmt)
Ho
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Position

B(t mt) = f( Dec, Ho, culmination, transit )
L(tmt) = f( GHA, transit)

http://sites.google.com/site/navigationalalgorithms/





